16: Asset Valuation: Derivative Investments
1.A: Introduction
	
	Question ID: 13922

Hedgers in the futures market usually:


	
	A.
	only trade in futures market.


	
	B.
	only trade in cash market.


	
	C.
	trade in neither cash nor futures markets.


	
	D.
	trade in both cash and futures markets. 

	
	
	


D

	
	Question ID: 13920

Any rational price for a financial instrument should:


	
	A.
	be low enough for most investors to afford.


	
	B.
	be always increasing.


	
	C.
	provide no opportunity for arbitrage.


	
	D.
	provide an opportunity for investors to make a profit. 

	
	
	


C

	
	Question ID: 24778
Which of the following statements about options and their underlying assets is FALSE?


	
	A.
	The value of an option, in comparison to its underlying asset, has the potential of creating an arbitrage opportunity.


	
	B.
	The owner of the option is legally required to engage in a transaction involving the asset.


	
	C.
	The holder of a long position on an option is the only party with the right to initiate a transaction involving the asset.


	
	D.
	The seller of the option is legally required to engage in a transaction involving the asset.

	
	
	


B

The option writer is required to honor the terms of the contract if called upon by the buyer to do so. The option buyer has the discretion to exercise the contract or not.
	
	Question ID: 24852
Which of the following statements about forward and future contracts is FALSE?


	
	A.
	A future requires the contract purchaser to receive delivery of the good at a specified time.


	
	B.
	A predetermined price to be paid for a good is a necessary requirement in the terms of a forward contract.


	
	C.
	The future value of a financial derivative depends on the value of its underlying asset.


	
	D.
	The primary difference between forwards and futures is that only futures are considered financial derivatives. 

	
	
	


D

Forwards and futures are similar and serve similar needs. Both are considered types of financial derivatives in that payoffs depend on another financial instrument or asset. The primary difference is that forwards are designed for the needs of the particular parties entering the contract, where futures are standardized contracts.
	
	Question ID: 24775
Which of the following relationships between arbitrage and efficient markets is least accurate?


	
	A.
	The concept of rationally priced financial instruments preventing arbitrage opportunities is the basis behind the no-arbitrage principle.


	
	B.
	Momentary deviations from market efficiency can create an arbitrage opportunity.


	
	C.
	Investors acting on arbitrage opportunities help keep markets efficient.


	
	D.
	Market efficiency refers to the low cost of trading derivatives because of the lower expense to traders.

	
	
	


D

Market efficiency refers to the concept of all relevant information being reflected in an assets price, not the low cost of trading derivatives. One necessary criterion for efficient markets is instantaneous adjustment of market values. Arbitrage, by trading on a price difference between identical assets, causes an imbalance between demand and supply that instantaneously corrects the pricing difference. 
	
	Question ID: 13963

Which of the following is TRUE about the no-arbitrage principle?


	
	A.
	No arbitrage activity is allowed in the financial market.


	
	B.
	You have to pay some transaction fees for trading financial assets.


	
	C.
	You cannot make excess profit without taking any risk.


	
	D.
	No one can make a profit in a bear market. 

	
	
	


C

	
	Question ID: 24774
Which of the following statements about arbitrage opportunities is TRUE?


	
	A.
	Engaging in arbitrage requires a large amount of capital for the investment.


	
	B.
	When an opportunity exists to profit from arbitrage, it usually lasts for several trading days.


	
	C.
	Pricing errors in securities are instantaneously corrected by the first arbitrageur to recognize them.


	
	D.
	There can never be an opportunity to make profits from arbitrage.

	
	
	


C

Arbitrage is the opportunity to trade in identical assets that are momentarily selling for different prices. Arbitrageurs act quickly to make a riskless profit, causing the price discrepancy to be instantaneously corrected. No capital is required, because opposite trades are made simultaneously.
	
	Question ID: 13977

Futures contracts differ from forward contracts in which of the following ways?


	
	A.
	Performance of each party in a futures transaction is guaranteed by a clearinghouse.


	
	B.
	All of these choices are correct.


	
	C.
	Futures contracts require a daily settling of any gains or loses.


	
	D.
	Futures contracts are standardized. 

	
	
	


B

	
	Question ID: 13980

Which of the following statements accurately describes how futures contracts differ from forward contracts?


	
	A.
	Futures contracts are standardized.


	
	B.
	Futures contracts require a daily settling of gains and losses.


	
	C.
	All of these choices are correct.


	
	D.
	The performance of counterparties to a futures contract is guaranteed by a clearinghouse. 

	
	
	


C

	
	Question ID: 24858
When a call option on a future is exercised, the buyer receives:


	
	A.
	a short position in the underlying future.


	
	B.
	an option to purchase the underlying future.


	
	C.
	the physical good.


	
	D.
	a long position in the underlying future and a cash payment.

	
	
	


D

The underlying asset, of a call option on a future, is the futures contract. When a call futures option is exercised, the buyer receives a long position in the future and a cash payment equal to the cash settlement price minus the exercise price of the futures option. Since the underlying asset is not a physical good, no physical good is received when the call option on a future is exercised.
	
	Question ID: 24855
Which of the following statements about swap agreements is FALSE?


	
	A.
	They are standardized agreements, similar to futures.


	
	B.
	Counterparties are the principles who engage in a swap agreement.


	
	C.
	They allow for the exchange of different sets of future cash flows.


	
	D.
	Interest rate and currency are common types of swaps.

	
	
	


A

A swap is an agreement between two or more counterparties to exchange (swap) cash flows over a specified future period. Swaps are flexible because, unlike futures, they are custom tailored to meet the needs of the specific counterparties involved in the agreement. Common types are interest rate and foreign currency swaps.
	
	Question ID: 24856
Which of the following requires the purchase of the underlying asset at a specified price?


	
	A.
	Purchasing a call option.


	
	B.
	Writing a put option.


	
	C.
	Writing a call option.


	
	D.
	Purchasing a put option.

	
	
	


B

A put is an option to sell a specified asset at a specified price at the put buyer’s discretion. The writer of a put agrees to purchase the asset if the buyer exercises the option. A call gives the buyer an option to purchase a specified asset and the call writer an obligation to sell the asset if the option is exercised.
	
	Question ID: 24864
MBT Corporation recently announced a 15 percent increase in earnings per share (EPS) over the previous period. The consensus expectation of financial analysts had been an increase in EPS of 10 percent. After the earnings announcement the value of MBT common stock increased each day for the next five trading days, as analysts and investors gradually reacted to the better than expected news. This gradual change in the value of the stock is an example of:


	
	A.
	inefficient markets.


	
	B.
	market completeness. 


	
	C.
	efficient markets.


	
	D.
	speculation.

	
	
	


A

A critical element of efficient markets is that asset prices respond immediately to any new information that will affect their value. Large numbers of traders responding in similar fashion to the new information will create a temporary imbalance in supply and demand, and this will adjust asset market values.
	
	Question ID: 24862
Which of the following statements about market completeness is TRUE?


	
	A.
	Completeness is not a desirable characteristic of financial markets.


	
	B.
	Traders can maximize their welfare by taking advantage of market imperfections due to a lack of completeness.


	
	C.
	Any and all identifiable risk return combinations may be obtained by trading available securities.


	
	D.
	A complete market is a theoretical ideal that all tradable securities provide the maximum payoff.

	
	
	


C

A complete market is one in which any and all identifiable payoffs may be obtained by trading the securities available in the market. A complete market accommodates all identifiable risk return combinations, from highly speculative to highly conservative. This is a desirable characteristic, because it enables market participants to maximize their welfare by enabling them to fulfil their trading needs. 
	
	Question ID: 24860
Financial derivatives contribute to market completeness by allowing traders to do all of the following EXCEPT: 


	
	A.
	hedge positions in other assets.


	
	B.
	narrow the amount of trading opportunities to a more manageable range.


	
	C.
	engage in high risk speculation.


	
	D.
	increase market efficiency through the use of arbitrage.

	
	
	


B

Financial derivatives increase the opportunities to either speculate or hedge on the value of underlying assets. This adds to market completeness by increasing the range of identifiable payoffs that can be used by traders to fulfill their needs. Financial derivatives such as market index futures can also be easier and cheaper than trading in a diversified portfolio, thereby adding to the opportunities available to traders.
	
	Question ID: 24876
Frank Jameson is a portfolio manager with 90 percent of the large-cap diversified mutual fund he controls invested in common stocks. Jameson is concerned the overall market will decline by a significant amount over the next two months due to a slowing of the general economy. Which of the following actions will provide a hedge for the mutual fund?


	
	A.
	Selling interest rate future contracts.


	
	B.
	Writing put options on the S&P 500.


	
	C.
	Purchasing put options on the Standard and Poor's 500 Index (S&P 500).


	
	D.
	Purchasing call options on the S&P 500.

	
	
	


C

A put option guarantees the buyer can sell the asset to the writer at the exercise price, on or before its expiration. Puts allow traders to earn a positive return when the underlying asset decreases in value. A diversified mutual fund can trade in S&P500 Index options, thereby closely matching the large-cap diversified portfolio. If the market declines, some or all of the losses on the portfolio will be offset by gains on the index put options.
	
	Question ID: 24877
Which of the following statements about arbitrage is FALSE?


	
	A.
	If an arbitrage opportunity exists, making a profit without risk is possible.


	
	B.
	Arbitrage is selling an asset and simultaneously buying the same asset for a lower price.


	
	C.
	No investment is required when engaging in arbitrage.


	
	D.
	Arbitrage can cause markets to be less efficient.

	
	
	


D

Arbitrage is defined as the existence of riskless profit without investment and involves selling an asset and simultaneously buying the same asset for a lower price. Since the trades cancel each other, no investment is required. Because it is done simultaneously, a profit is guaranteed, making the transaction risk free. Arbitrage actually helps make markets more efficient because price discrepancies are immediately eradicated by the actions of arbitrageurs.
	
	Question ID: 24874
Ron Jensen is a speculator who does not currently own GHP Corporation common stock but believes it will increase in market value by 25 percent over the next month. Jensen can most likely achieve the highest percentage return on the expected stock price increase by:


	
	A.
	writing GHP put options.


	
	B.
	buying GHP call options.


	
	C.
	buying GHP put options.


	
	D.
	buying GHP common stock.

	
	
	


B

A call option allows the buyer to purchase the common stock at the exercise price. If the underlying stock increases in value the call will also gain in market value, often at a higher percentage than the gain on the stock. The writer of a put option on GHP would also gain if the stock value increased by 25 percent, because the option would not be exercised and the writer would keep the premium. The writer’s gain, however, is limited to the premium, whereas the potential gain on the call is unlimited depending on the price rise of the underlying stock.
	
	Question ID: 24878
Which of the following statements about derivatives is TRUE?


	
	A.
	Although forwards have terms that are not standardized, the clearinghouse of that exchange still takes the opposite position of each trade, thereby protecting the counterparties from default risk.


	
	B.
	Although minimal, arbitragers face the risk of the market value of the underlying asset declining by an amount greater then what was protected with the hedge. 


	
	C.
	When a call option on a future is exercised, the seller receives a short position in the underlying future plus pays cash to the holder of the option. 


	
	D.
	The market value of a financial derivative is primarily a function of the relative demand and supply for that contract.

	
	
	


C

Arbitrage is riskless, because the same asset is simultaneously bought and sold short, so profit is guaranteed and with no investment required. Though true that forwards are not standardized, they are private contracts, do not trade on an exchange, and, therefore, there is a risk of default since no clearinghouse functions as the opposite trade. The market value of a financial derivative is directly tied to the market value of its underlying asset, specifically, the asset’s market value relative to the exercise price. 
	
	Question ID: 13921

If an oil wholesaler expects to buy some gasoline for his customers in the future and wants to hedge his risk, he needs to:


	
	A.
	sell gasoline now.


	
	B.
	sell crude oil futures contract.


	
	C.
	do nothing.


	
	D.
	buy crude oil futures contract. 

	
	
	


D

	
	Question ID: 13982

Which of the following statements regarding the relationship between the clearinghouse and the futures exchange is CORRECT? The clearinghouse:


	
	A.
	must be a separate corporation.


	
	B.
	can be part of the futures exchange or a separate corporation.


	
	C.
	None of these choices is correct.


	
	D.
	must be part of the futures exchange. 

	
	
	


B

	
	Question ID: 13981

Which of the following statements about forward contracts is CORRECT? A long trader agrees to:


	
	A.
	take delivery, and a short trader agrees to take delivery


	
	B.
	take delivery, and a short trader agrees to make delivery.


	
	C.
	take delivery, and a short trader agrees to make delivery.


	
	D.
	make delivery, and a short trader agrees to take delivery. 

	
	
	


B

	
	Question ID: 13964

Which of the following is the best interpretation of the no-arbitrage principle?


	
	A.
	There is no free money.


	
	B.
	The information flow is quick in the financial market.


	
	C.
	There is no way you can find an opportunity to make a profit.


	
	D.
	People can never beat the market. 

	
	
	


A

1.B: Futures Markets
	
	Question ID: 24879
Which of the following activities in the futures market describes a short hedge?


	
	A.
	Intercon Bakery has a contract with several hotel chains to supply a variety of bread products at a set contract price. To protect against their cost of wheat increasing they periodically purchase wheat futures.


	
	B.
	A trader who purchases commodity futures but closes out his position prior to the end of the trading day.


	
	C.
	A farmer with corn acreage who short sells corn futures.


	
	D.
	A trader who sells commodity futures short without owning the underlying asset.

	
	
	


C

A trader that sells a commodity future, on a commodity that trader owns long, is engaging in a short hedge. An example would be a firm that owns the asset but wants to reduce their risk by selling the asset now at the current price. It is a hedge because if the underlying commodity’s market value declines, the short position value will increase. 
	
	Question ID: 13988

If a farmer expects to sell his wheat in anticipation of a harvest and wants to hedge his risk, he needs to:


	
	A.
	sell wheat now.


	
	B.
	buy wheat now.


	
	C.
	buy wheat futures contracts now.


	
	D.
	sell wheat futures contracts now. 

	
	
	


D

	
	Question ID: 24880
Which of the following statements about speculators and hedgers in the futures market is TRUE?


	
	A.
	Hedging can allow a business to guard against a price increase in a commodity without sacrificing profit if the commodity price decreases.


	
	B.
	A speculator would use futures to take a long position in a commodity if its price is expected to decrease.


	
	C.
	A speculator would use futures to take a short position in a commodity if its price is expected to increase.


	
	D.
	Hedgers guard against market price changes that would cause a reduction in their operating profit.

	
	
	


D

The purpose of hedging is to guard against price changes that could adversely affect operating profit. However, in protecting against profit reduction a hedge also sacrifices higher profit if the underlying asset increases in value, since the gain on the long position will be offset by the loss on the short position. Speculators would take long positions if the underlying commodity value were expected to increase. Long (short) positions gain if the underlying asset value increases (decreases). 
	
	Question ID: 13990

If only one transaction occurs today for both a buyer and a seller for a given futures contract, there MUST be:


	
	A.
	one open interest for that futures contract today.


	
	B.
	no trading volume today for that futures contract.


	
	C.
	one contract of trading volume for that contract today.


	
	D.
	no open interest for that contract today. 

	
	
	


C

	
	Question ID: 13991

If both the buyer and the seller of a futures contract are closing their existing position by trading the contract, the:


	
	A.
	volume will not be changed.


	
	B.
	open interest will decrease by one.


	
	C.
	volume will decrease by one.


	
	D.
	open interest will not be changed. 

	
	
	


B

	
	Question ID: 13994

Which of the following statements regarding the open interest in the option market is TRUE? It:


	
	A.
	always less than the trading volume.


	
	B.
	decreases if a trader writes a put position.


	
	C.
	decreases if a trader closes a put position.


	
	D.
	always greater than the trading volume. 

	
	
	


C

	
	Question ID: 13998

If a trader buys 5 contracts of a put option to close this position in writing the puts, and that is the only trade for this option contract that day, the open interest of that option contract:


	
	A.
	decreases by 10 contracts.


	
	B.
	increases by 5 contracts.


	
	C.
	increases by 10 contracts.


	
	D.
	decreases by 5 contracts. 

	
	
	


D

	
	Question ID: 24882
Standardized futures contracts are an aid to increased market liquidity because:


	
	A.
	standardization results in less trading activity. 


	
	B.
	uniformity of the contract terms broadens the market for the futures by appealing to a greater number of traders.


	
	C.
	standardization of the futures contract stabilizes the market price of the underlying commodity. 


	
	D.
	non-standardized forward contracts are not allowed to trade.

	
	
	


B

Although a forward may have value to someone other than the original counterparties, the non-standardized terms limit the level of interest, hence its marketability and liquidity. The standardized terms of a future give it far more flexibility to traders, giving rise to a strong secondary market and greater liquidity. 
	
	Question ID: 24881
Futures have greater market liquidity than forward contracts, because futures are:


	
	A.
	developed with specific characteristics to meet the needs of the buyer.


	
	B.
	standardized contracts. 


	
	C.
	sold only for widely traded commodities, unlike forwards.


	
	D.
	written for shorter periods of time.

	
	
	


B

Forward contracts do not have standardized terms as futures have. Forwards have the same terms as futures, but those terms are written to meet the specific needs of the two or more parties to the contract. This specialization limits the marketability, hence liquidity, of the forward contact. 
	
	Question ID: 24883
Standardization features of futures contracts do not include the:


	
	A.
	quality of the good that can be delivered.


	
	B.
	delivery time.


	
	C.
	quantity of the good to be delivered.


	
	D.
	delivery price of the commodity.

	
	
	


D

The delivery, or spot price at contract expiration, of a commodity is a variable and cannot be included in a futures contract. Quality, quantity, and delivery time are all part of the standardized terms of a futures contract. 
	
	Question ID: 24885
Which of the following statements about a commodity exchange clearinghouse is FALSE?


	
	A.
	The clearinghouse acts as a seller to every buyer of a future.


	
	B.
	There have been only two incidents when a clearinghouse has defaulted as a guarantor.


	
	C.
	Each commodity exchange has its own clearinghouse.


	
	D.
	The clearinghouse acts as the buyer opposite every seller of a future.

	
	
	


B

The clearinghouse guarantees that traders in the futures market will honor their obligations by acting as the opposite side to each trader’s position. There is a separate clearinghouse for each commodity exchange, and there has never been an incident of any clearinghouse defaulting. 
	
	Question ID: 14002

Which of the following statements about the essential role of the clearinghouse is CORRECT? The clearinghouse:


	
	A.
	helps both trading parties to know each other.


	
	B.
	helps both trading parties to establish trust.


	
	C.
	is only responsibility for keeping the futures exchange clean.


	
	D.
	substitutes its own creditibility for the promise of each trader. 

	
	
	


D

	
	Question ID: 24884
In the trading of futures contracts, the role of the clearinghouse is to:


	
	A.
	guarantee that all obligations by traders, as set forth in the contract, will be honored.


	
	B.
	initiate trades in commodity futures that are being ignored by private investors.


	
	C.
	maintain private insurance that can be used to provide funds if a trader defaults.


	
	D.
	stabilize the market price fluctuations of the underlying commodity.

	
	
	


A

The clearinghouse does not originate trades, it acts as the opposite party to all trades. In other words, it is the buyer to every seller and the seller to every buyer. This action guarantees that all obligations under the terms of the contract will be fulfilled. 
	
	Question ID: 24889
If the balance in a trader’s account falls below the maintenance margin level, the trader will have to deposit additional funds into the account. The additional funds required is called the:


	
	A.
	initial margin.


	
	B.
	margin call. 


	
	C.
	marking to market.


	
	D.
	variation margin.

	
	
	


D

If the margin balance falls below a specified level (the maintenance margin), additional capital (the variation margin) must be deposited in the account. Initial margin is the capital that must be in the trader’s account before the initiation of the margin trade. Marking to market is when any loss for the day is deducted from the trader’s account, and any gains are added to the account. 
	
	Question ID: 24888
In commodity trading, the exchange removes any daily losses from a trader’s account and adds any gains to the trader’s account. This process is known as:


	
	A.
	marking to market. 


	
	B.
	initial margin.


	
	C.
	maintenance margin.


	
	D.
	variation margin.

	
	
	


A

To safeguard the clearinghouse, commodity exchanges require traders to settle their accounts on a daily basis. Marking to market is when any loss for the day is deducted from the trader’s account, and any gains are added to the account. 
Setup Text: 
It is April 15, and a trader is entered into a short position in two soybean meal futures contracts. The contracts expire on August 15, and call for the delivery of 100 tons of soybean meal each. Further, because this is a futures position, it requires the posting of a $3,000 initial margin and a $1,500 maintenance margin per contract. For simplicity, however, assume that the account is marked to market on a monthly basis. Assume the following represent the contract delivery prices (in dollars per ton) that prevail on each settlement date:
	April 15 (initiation)
	173.00

	May 15
	179.75

	June 15
	189.00

	July 15
	182.50

	August 15 (delivery)
	174.25


	
	Question ID: 14007

What is the equity value of the margin account on the May 15 settlement date, including any additional equity that is required to meet a margin call?


	
	A.
	$4,650.


	
	B.
	$2,300.


	
	C.
	$2,700.


	
	D.
	$1,350. 

	
	
	


A

Total margin = (2)(3,000) = $6,000. Total price change = 179.75-173.00 = $6.75 per ton. $6.75 per ton * $1,350. Since this is a short position, the margin account will decrease by $1,350. $6,000-$1,350 = $4,650.
	
	Question ID: 14007

Based on the May 15 settlement date, which of the following is TRUE?


	
	A.
	Since the equity value fell below the maintenance level, a variation margin is called.


	
	B.
	Due to the fact that the equity value falls below the initial margin, a variation margin is called to restore the equity value of the account to it's initial level.


	
	C.
	The equity value falls below the initial margin.


	
	D.
	The equity value is above initial margin. 

	
	
	


C

	
	Question ID: 24890
Sue Wilkins buys one corn futures contract at $3.00 per bushel (one contract is for 5,000 bushels). The initial margin requirement is 10 percent of the total contract purchase price, and the maintenance margin level is 65 percent. What is the amount of the per bushel price decline that will require a maintenance margin call to Wilkins?


	
	A.
	$.1250.


	
	B.
	$0.675.


	
	C.
	$.1050.


	
	D.
	$.0725.

	
	
	


C

The initial margin requirement is ($3.00 x 5000 x .10) = $1,500.00. The maintenance margin level is ($1,500 x 0.65) = $975.00. The difference between the initial and maintenance margin amounts is ($1,500.00 - $975.00) = $525.00. When the market value of the commodity decreases, the daily settlement process reduces the amount in the trader’s margin account. When the initial level of margin declines by $525.00 Wilkins will receive a maintenance margin call. This will occur when the price per bushel declines by: ($525.00/5000) = 0.105, or by $.1050. 
	
	Question ID: 14009
A trader has a short position in a wheat contract.
· the initial margin is $2,000 

· the maintenance margin is $1,500 

· there are 5,000 bushels in each wheat contract 

· on August 10, the price is $1.89 per bushel 

What is the price at which the trader will receive a maintenance margin call?


	
	A.
	$1.69.


	
	B.
	$1.79.


	
	C.
	$1.99.


	
	D.
	$1.89. 

	
	
	


C

The short trader loses equity in the account when the price of wheat appreciates. $2,000-$1,500 = $500. 5,000(P-1.89) = 500. P = $1.99.
	
	Question ID: 14008
A trader has a long position in a wheat contract.
· the initial margin is $1,000 

· the maintenance margin is $750 

· there are 5,000 bushels in each wheat contract 

· on May 14, the price is $1.80 per bushel 

What is the price at which the trader will receive a maintenance margin call?


	
	A.
	$1.70.


	
	B.
	$1.65.


	
	C.
	$1.75.


	
	D.
	$1.60. 

	
	
	


C

The trader will receive a margin call when the price of the contract declines by $250, or 1,000-750. (5,000)(1.80-P) = 250. P = $1.75
	
	Question ID: 14018

Offset must involve entering into a:


	
	A.
	none of these choices are correct.


	
	B.
	long position.


	
	C.
	reversing trade.


	
	D.
	short position. 

	
	
	


C

	
	Question ID: 14016

Which of the following can be used to honor an obligation in the futures market?


	
	A.
	Delivery of the underlying asset.


	
	B.
	Cash settlement.


	
	C.
	Closing the position by selling exactly the same number of contracts in the futures market.


	
	D.
	All of these choices are correct. 

	
	
	


D

	
	Question ID: 24893
All of the following are methods to close out a futures position EXCEPT:


	
	A.
	delivery of the underlying commodity.


	
	B.
	through an exchange for physicals with another trader.


	
	C.
	engaging in an offsetting trade in the futures market.


	
	D.
	allowing the contract to expire without taking action.

	
	
	


D

A futures contract cannot expire without any action being taken. If the contract has not been closed out through an offsetting trade, then one party must deliver the underlying commodity and the other party must purchase the commodity. 
	
	Question ID: 24894
Which type of futures contract does NOT allow for the underlying goods to be delivered?


	
	A.
	Interest rate.


	
	B.
	Foreign currency.


	
	C.
	Index.


	
	D.
	Agricultural.

	
	
	


C

The nature of an index future realistically prohibits settlement in the underlying commodity. For example, the Standard and Poor’s 500 stock index would require settlement in 500 different common stocks, in the exact proportion of the total value as exists in the index at expiration of the future. Agriculture, interest rate, and currency futures all involve deliverable commodities.
	
	Question ID: 24896
Which is the only type of commodity where trading in forward contracts is larger than trading with future contracts?


	
	A.
	Agricultural.


	
	B.
	Foreign currency.


	
	C.
	Interest rate.


	
	D.
	Metallurgical.

	
	
	


B

Trading in foreign currency forwards is far larger than the trading in futures. For example, with international trade, businesses can hedge against adverse currency fluctuations. But each business arrangement is unique, and most require the flexibility of a forward, whose terms are not standardized, that meets their special needs.
	
	Question ID: 24897
Of the following types of futures, which has experienced the greatest trading growth rate since 1975?


	
	A.
	Index.


	
	B.
	Agricultural.


	
	C.
	Metallurgical.


	
	D.
	Interest rate.

	
	
	


D

Interest rate futures began trading in 1975, and their usage has grown at a faster rate than with other commodities. 
	
	Question ID: 14023

Which of the following is NOT a purpose of the futures market?


	
	A.
	Maturity transformation.


	
	B.
	Hedging.


	
	C.
	Price discovery.


	
	D.
	Risk management. 

	
	
	


A

	
	Question ID: 24901
In futures markets, the concept of price discovery refers to the:


	
	A.
	standardization of futures contracts.


	
	B.
	ability to use a current futures contract price to estimate the price of the underlying commodity on the day of the future's expiration.


	
	C.
	ability of traders to quickly determine the market value of a futures contract.


	
	D.
	regulation of maximum daily price movements for futures contracts.

	
	
	


B

There is an established relationship between a futures contract price and what traders expect for the spot price of the underlying asset at the expiration of the future. Examining the current market value of a future gives an indication of what trader’s predict the underlying commodity’s market value will be. 
	
	Question ID: 24899
Which of the following represents the primary societal function of futures markets?


	
	A.
	Economic regulation.


	
	B.
	Speculation.


	
	C.
	Commodity price stabilization.


	
	D.
	Hedging.

	
	
	


D

Hedging allows businesses, professional money managers, and individual investors to reduce, limit, and even eliminate risk exposure. This ability to engage in risk management serves a valuable function for society as a whole.
	
	Question ID: 14024

Which of the following statement is a best description of the meaning of price discovery?


	
	A.
	Investors can know exactly the cash market prices in the future by looking at futures market prices.


	
	B.
	Investors can know today's cash market prices by only looking at futures market prices.


	
	C.
	Futures market prices contain little information about the cash market prices in the future.


	
	D.
	Futures market prices provide good estimate of the cash market prices in the future. 

	
	
	


D

	
	Question ID: 14020

Which of the following is TRUE?


	
	A.
	Futures contracts are closed by a transaction on the floor of the exchange.


	
	B.
	The majority of futures positions lead to the actual delivery or assuming delivery of the underlying asset.


	
	C.
	Two traders privately negotiate the price.


	
	D.
	As maturity of a contract approaches, more and more traders will attempt to close their positions. 

	
	
	


D

	
	Question ID: 14010
A trader has a long position in a wheat contract.
· the initial margin is $3,000 

· the maintenance margin is $2,250 

· there are 5,000 bushels in each wheat contract 

· on June 10, the price is $1.00 per bushel 

What is the price at which the trader will receive a maintenance margin call?


	
	A.
	$1.15.


	
	B.
	$0.95.


	
	C.
	$1.05.


	
	D.
	$0.85. 

	
	
	


D

The trader has a long position, so they have bought the contract. They will need to lose $750, or 3,000-2250 before they get a margin call. 5,000 (1.00-P) = 750. P = $0.85.
	
	Question ID: 13992

If both the buyer and the seller of a futures contract are opening their position by trading a contract, the:


	
	A.
	open interest will decrease by one.


	
	B.
	open interest will increase by one.


	
	C.
	volume will not be changed.


	
	D.
	volume will decrease by one. 

	
	
	


B

	
	Question ID: 14003

Which of the following regarding the obligations of the trading parties and the clearinghouse is CORRECT?


	
	A.
	The clearinghouse has no obligation.


	
	B.
	Neither of the trading parties has any obligation.


	
	C.
	Each trading party has obligations to each other.


	
	D.
	Both trading parties and the clearinghouse have obligations. 

	
	
	


D

	
	Question ID: 14019

Which of the following is NOT the same as exchange for physicals (EFP)?


	
	A.
	Versus cash transaction.


	
	B.
	Ex-pit transaction.


	
	C.
	Offsetting trades.


	
	D.
	Against actual transaction. 

	
	
	


C

	
	Question ID: 13989

If no one trades on S&P 500 futures contract, there is:


	
	A.
	no trading volume today for S&P 500 futures contract.


	
	B.
	one contract of trading volume today for S&P 500 futures contract.


	
	C.
	no open interest today for S&P 500 futures contract.


	
	D.
	one open interest today for S&P 500 futures contract. 

	
	
	


A

	
	Question ID: 13995

Open interest always increases if a trader:


	
	A.
	opens a long position in a call option.


	
	B.
	sells a call option.


	
	C.
	closes a short positin in a put option.


	
	D.
	purchases a call option. 

	
	
	


A

1.C: The Options Market
	
	Question ID: 14027

A long position in an option means an investor:


	
	A.
	receives payment for taking this position.


	
	B.
	can sell the underlying instrument at a fixed price in the future.


	
	C.
	bought an option.


	
	D.
	sold an option. 

	
	
	


C

	
	Question ID: 14034

The buyer of the put option has the:


	
	A.
	obligation to buy the underlying asset in the future under certain conditions.


	
	B.
	obligation to sell the underlying asset in the future under certain conditions.


	
	C.
	right to buy the underlying asset in the future under certain conditions.


	
	D.
	right to sell the underlying asset in the future under certain conditions. 

	
	
	


D

	
	Question ID: 14031

A writer of a call option is the person who:


	
	A.
	designs the contract.


	
	B.
	writes the contract.


	
	C.
	sells the contract.


	
	D.
	buys the contract. 

	
	
	


C

	
	Question ID: 14037

Which one of the following statements regarding the margin requirements for option trading is TRUE?


	
	A.
	Margin for option combinations is usually higher than the sum of the margins for component options.


	
	B.
	Maintenance margin is higher than initial margin.


	
	C.
	Initial margin is higher for writing an in-the-money option than for writing an out-of-money option.


	
	D.
	Broker cannot set margin requirement higher than that of the Federal Reserve Board. 

	
	
	


C

	
	Question ID: 24904
Basil, Inc., common stock has a market value of $47.50. A put available on Basil stock has a strike price of $55.00 and is selling for an option premium of $10.00. The put is: 


	
	A.
	in-the-money by $7.50.


	
	B.
	out-of-the-money by $17.50.


	
	C.
	in-the-money by $10.00.


	
	D.
	out-of-the-money by $2.50.

	
	
	


A

The put allows a trader to sell Basil common stock for $7.50 more than the current market value ($55.00 - $47.50). The trade is normally closed out with a cash settlement, but the trader could buy 100 shares for $47.50 per share and immediately sell them to the option writer for $55.00. 
	
	Question ID: 24902
Bidco Corporation common stock has a market value of $30.00. Which statement about put and call options available on Bidco common is TRUE? 


	
	A.
	A put with a strike price of $20.00 is out-of-the-money. 


	
	B.
	A call with a strike price of $25.00 is at-the-money.


	
	C.
	A call with a strike price of $30.00 is in-the-money.


	
	D.
	A put with a strike price of $35.00 is in-the-money.

	
	
	


D

A put is in-the-money when its exercise price is higher than the market value of the underlying asset. A put with a $35.00 strike price allows the trader to sell 100 shares of stock for $35.00 per share, which is $5.00 higher than the prevailing market value. This gives the put a value, hence, it is in-the-money. For a call to be in-the-money, its strike price would have to be lower than the market value of the underlying common stock, allowing the trader to purchase 100 shares at a price below the prevailing market value. At-the-money is when the strike price and asset market value are equal.
	
	Question ID: 24905
What is the primary difference between an American and a European option?


	
	A.
	American and European options are never written on the same underlying asset.


	
	B.
	The European option can only be traded on overseas markets.


	
	C.
	The American option can be exercised at anytime on or before its expiration date.


	
	D.
	American and European options always have different strike prices when written on the same underlying asset.

	
	
	


C

American and European options are virtually identical, except exercising the European option is limited to its expiration date only. The American option can be exercised at anytime on or before its expiration date. For the exam, the key concept relating to this difference is the value of the American option must be equal or greater than the value of the corresponding European option, all else being equal.
	
	Question ID: 14038

American options are worth no less than European options with the same maturity, exercise price, and underlying stock because:


	
	A.
	purchasers of American options receive stock dividends, while purchasers of European options do not.


	
	B.
	American options are traded in U.S. exchanges where trading costs are less than in European exchanges.


	
	C.
	all of these choices are correct.


	
	D.
	American options can be exercised before maturity, while European options can be exercised only at maturity. 

	
	
	


D

	
	Question ID: 24908
Which of the following statements about European and American options is FALSE?


	
	A.
	European options offer more flexible trading opportunities for speculators.


	
	B.
	American options can be exercised at any time on or before the expiration date.


	
	C.
	European options are easier to analyze and value than American options.


	
	D.
	American options are far more common than European options.

	
	
	


A

European options are less flexible for traders than American options because of the limitation on when they can be exercised, which is only on the expiration date. Traders gain more flexibility with American options that can be exercised at anytime on or before expiration. 
	
	Question ID: 14040

Which of the following statements regarding options is TRUE?


	
	A.
	An American option is worth no less than a European option with the same maturity, exercise price, and underlying stock.


	
	B.
	European options are always worth the same as American options with the same maturity, exercise price, and underlying stock.


	
	C.
	European options are always worth more than American options with the same maturity, exercise price, and underlying stock.


	
	D.
	All of these choices are correct. 

	
	
	


A

	
	Question ID: 24912
ABEX Corporation common stock is selling for $50.00 per share. Both an American call option and a European call option are available on ABEX common, and each have identical strike prices and expiration dates. Which of the following statements concerning these two options is TRUE? 


	
	A.
	The greater flexibility allowed in exercising the American option will normally result in a higher market value relative to an otherwise identical European option.


	
	B.
	The European option will normally have a higher option premium because of their relative scarcity compared to American options.


	
	C.
	The American option will have a higher option premium, because the American security markets are larger than the European markets.


	
	D.
	Because the American and European options have identical terms and are written against the same common stock, they will have identical option premiums.

	
	
	


A

Trading in European options is considerably less than trading in American options, because demand for them is much lower. This is due to their relative inflexibility regarding when they can be exercised. The greater exercising flexibility of American options gives them increased value to traders, which normally results in a greater market value relative to an otherwise identical European option. 
	
	Question ID: 24910
There are two different options available with ITM Corporation common stock as the underlying asset. They each have the same maturity date, a strike price of $40.00, and are identical in all other ways except, one is a European call, and the other is an American call. ITM stock has a market value of $43.75. The American call option is selling for $4.90. For the European call, which of the following option premiums is most likely? 


	
	A.
	$5.25.


	
	B.
	$4.90.


	
	C.
	$4.25.


	
	D.
	$5.50.

	
	
	


C

Both the American and European calls have a strike price of $40.00. Each call is therefore in-the-money by $3.75 ($43.75 - $40.00). Since they are identical in all ways except when they can be exercised, and since European calls are less flexible than American, their market value, option premium, will most likely be lower. The lower option premium will allow for a higher return on the European option relative to the American, assuming both are held to expiration. This higher return is compensation for the reduced flexibility of the option terms. 
	
	Question ID: 14044

A trader can close a long position in a put option by:


	
	A.
	buying a call.


	
	B.
	buying the stock.


	
	C.
	selling a put.


	
	D.
	shorting the stock. 

	
	
	


C

	
	Question ID: 14041

The closest statement regarding how a trader can open an option position is to:


	
	A.
	sell or purchase an option.


	
	B.
	sell the underlying stock.


	
	C.
	purchase an option.


	
	D.
	purchase the underlying stock. 

	
	
	


A

	
	Question ID: 24914
Steve Bucek has just purchased 10 call option contracts on YPM Corporation common stock. The call has a $20 strike price and expires in March of this year. Which of the following trades by Bucek represents closing his position? Selling:


	
	A.
	10 YPM call option contracts with a $20 strike and expiration date of March.


	
	B.
	10 YPM call option contracts with a $25 strike price and expiration date of March.


	
	C.
	10 YPM call option contracts with an expiration date pf April.


	
	D.
	short the common stock of YPM for $20 per share.

	
	
	


A

Closing a position requires engaging in the opposite transaction, with a similar option, also called an offsetting order. If a trader currently owns 10 call contracts, then selling 10 call contracts with the same underlying stock and the same exercise price and maturity date would constitute an offsetting order, and the trader’s position is closed. No further obligation exists for the trader. 
	
	Question ID: 14049

Which of the following statement regarding the option clearinghouse is FALSE?


	
	A.
	It bears little exposure from option price fluctuation.


	
	B.
	It serves as the counterparty of every option buyer and seller.


	
	C.
	It has a zero net position in the option market.


	
	D.
	It takes over the market risk from option traders. 

	
	
	


D

	
	Question ID: 14052

Which of the following is TRUE regarding the clearinghouse? With the clearinghouse, the number of long positions:


	
	A.
	can be smaller than the number of short positions.


	
	B.
	can be greater than the number of short positions.


	
	C.
	must be equal to the number of short positions.


	
	D.
	none of these answers are correct. 

	
	
	


C

	
	Question ID: 24916
Which of the following statements about the Options Clearing Corporation (OCC) is TRUE?


	
	A.
	The OCC is charged with providing an umbrella insurance policy to protect both the seller and buyer of an option in case there is a default on the contract.


	
	B.
	If either the writer or buyer of an option defaults on their obligation, the OCC may be subject to price risk (due to price fluctuations of the options) when backing up the opposite trade. 


	
	C.
	Whenever an option is written and sold the OCC takes the opposite side of each trade.


	
	D.
	An outtrade occurs when the OCC is able to match all the paperwork associated with option trading.

	
	
	


C

The OCC always takes the opposite side of each trade ensuring that if one party defaults on their contract obligation, the other party will be protected. In essence, the OCC substitutes its own credibility, if needed, for that of the individual traders involved in the option contract. The OCC does not have exposure to price risk. Since the OCC is the buyer to every seller and seller to every buyer, it has a zero net position in the market. An outtrade occurs when paperwork does not match up between option transactions. If this occurs, the clearinghouse and the brokers must settle all disagreements before the opening bell of the exchange the next day.
	
	Question ID: 24920
A trader is writing an in-the-money option for a total premium of $300.00. The value of the underlying common is $2,700.00. An initial margin will be required. Which of the following is the minimum margin requirement for the option writer?


	
	A.
	$300.00.


	
	B.
	$840.00.


	
	C.
	$540.00.


	
	D.
	$360.00

	
	
	


B

The Federal Reserve Board determines minimum margin requirements. For in-the-money options the minimum requirement is 20 percent of the underlying common stock value plus the amount of the premium received. With a common stock value of $2,700.00 and an option premium of $300.00 the minimum margin is: ($2,700 x 0.20) + $300 = $840.00. 
	
	Question ID: 24918
Which of the following statements about margin requirements on options is TRUE?


	
	A.
	The buyer of more than 10 call contracts must provide a margin deposit with the Options Clearing Corporation. 


	
	B.
	The Federal Reserve Board sets minimum margin requirements for common stock trading, but the Options Clearing Corporation sets minimum margin requirements for options trading. 


	
	C.
	A covered call requires no margin payment from an option writer.


	
	D.
	A naked call requires no margin payment from an option writer.

	
	
	


C

The Federal Reserve Board sets margin requirements for both common stock and options trading. However, if a call option writer deposits shares of the underlying common stock with their broker, a cash margin is not required, and it is referred to as writing a covered call. Should the writer of the call not own the stock, he is said to have a naked position and the broker will require a portion of the loss exposure in the form of margin. A buyer of a call option must pay the full premium – no margin is required.
	
	Question ID: 14055

The margin requirement for writing a naked call does NOT vary with:


	
	A.
	the underlying assets.


	
	B.
	whether the option is in-the-money or out-of-money.


	
	C.
	the maturity of the option.


	
	D.
	all of these choices are correct. 

	
	
	


C

	
	Question ID: 14035

The writer of the put option has the:


	
	A.
	obligation to sell the underlying asset in the future under certain conditions.


	
	B.
	right to buy the underlying asset in the future under certain conditions.


	
	C.
	right to sell the underlying asset in the future under certain conditions.


	
	D.
	obligation to buy the underlying asset in the future under certain conditions. 

	
	
	


D

	
	Question ID: 14030

A short position in an option means an investor:


	
	A.
	receives payment for taking this position.


	
	B.
	can sell the underlying instrument at a fixed price in the future.


	
	C.
	has bought an option.


	
	D.
	has sold an option. 

	
	
	


D

	
	Question ID: 14028

The writer of an option has:


	
	A.
	neither the right nor obligation.


	
	B.
	both the right and obligation.


	
	C.
	the right.


	
	D.
	the obligation. 

	
	
	


D

	
	Question ID: 14053

Which of the following about the positions of the clearinghouse is CORRECT? The clearinghouse:


	
	A.
	only takes long positions to sellers.


	
	B.
	only takes short positions to buyers.


	
	C.
	takes short positions to buyers and long positions to sellers.


	
	D.
	takes no position. 

	
	
	



C

	
	Question ID: 14056

Writers of naked options must deposit initial margins when initiating their positions because:


	
	A.
	margin is used to pay for the interest incurred by the clearinghouse for maintaining their trades.


	
	B.
	margin is used to help buyers of the options to finance their positions.


	
	C.
	margin is required to protect the brokers, clearinghouse and clearing members from default by traders.


	
	D.
	margin is required as a guarantee for paying the trading commission. 

	
	
	


C

	
	Question ID: 14050

Which of the following statements about the essential role of the clearinghouse is CORRECT? The clearinghouse:


	
	A.
	substitutes its owns credibility for the promise of each trader.


	
	B.
	helps both trading parties to know each other.


	
	C.
	helps both trading parties to establish trust.


	
	D.
	is only responsible for keeping the futures exchange clean. 

	
	
	


A

	
	Question ID: 14039

The value of an American option can equal that of a European option with the same maturity, exercise price, and underlying stock when:


	
	A.
	the owner of the American option chooses to hold the option until maturity.


	
	B.
	the seller of the American option prefer not to let the purchaser to exercise before maturity.


	
	C.
	the owner of the American option chooses to exercise the option before maturity.


	
	D.
	the seller of the American option chooses to let the purchaser exercise before maturity. 

	
	
	


A

	
	Question ID: 14045

A trader can open a short position in a put option by:


	
	A.
	buying a put.


	
	B.
	writing a put.


	
	C.
	shorting the stock.


	
	D.
	selling a call. 

	
	
	


B

1.D: Option Payoffs and Option Strategies
	
	Question ID: 23573
Consider a put option on Deter, Inc., with an exercise price of $45. The current stock price of Deter is $52. What is the intrinsic value of the put option, and is the put option in-the-money, at-the-money, or out-of-the-money?(Note: The responses are in the order Intrinsic Value, Moneyness, respectively.)


	
	A.
	$52, In-the-money.


	
	B.
	$0, Out-of-the-money.


	
	C.
	$7, At-the-money.


	
	D.
	$45, Out-of-the-money.

	
	
	


B

The option has an intrinsic value of $0, because the stock price is above the exercise price. Put value is MAX (0, X-S). Equivalently, the option is out-of-the-money.
	
	Question ID: 23572
Consider a put option on Deter, Inc., with an exercise price of $45. The current stock price of Deter is $52. What is the intrinsic value of the put option, and is the put option in-the-money, at-the-money, or out-of-the-money?(Note: The responses are in the order Intrinsic Value, Moneyness, respectively.)


	
	A.
	$7, At-the-money.


	
	B.
	$52, In-the-money.


	
	C.
	$45, Out-of-the-money.


	
	D.
	$0, Out-of-the-money.

	
	
	


D

The option has an intrinsic value of $0, because the stock price is above the exercise price. Put value is MAX (0, X-S). Equivalently, the option is out-of-the-money.
	
	Question ID: 14066

The price of a stock is $44 per share, and the October put with an exercise price of $45 is selling for $3. The intrinsic value of the option is:


	
	A.
	$1.00.


	
	B.
	$2.00.


	
	C.
	$3.00.


	
	D.
	$0.00. 

	
	
	


A

	
	Question ID: 14060

Which of the following statements is TRUE about the profits and losses from selling a call:


	
	A.
	potential losses from selling a call are theoretically unlimited.


	
	B.
	potential losses from selling a call are limited to the strike price plus the premium.


	
	C.
	potential profits from selling a call are theoretically unlimited.


	
	D.
	potential losses from selling a call are limited to the initial premium the seller receives when he sells the call. 

	
	
	


A

	
	Question ID: 14070

Suppose the price of a share of Stock A is $100. A European call option that matures one month from now has a premium of $8, and an exercise price of $100. Ignoring commissions and the time value of money, the holder of the call option will earn a profit if the price of the share one month from now:


	
	A.
	increases to $106.


	
	B.
	increases to $110.


	
	C.
	decreases to $90.


	
	D.
	decreases to $94. 

	
	
	


B

The stock price must be greater than $100 + $8 = $108 for the investor to earn a profit.
	
	Question ID: 23574
Consider a call option with a strike price of $32. If the stock price at expiration is $41, the value of the call option is:


	
	A.
	$41.


	
	B.
	$9.


	
	C.
	$0.


	
	D.
	$32.

	
	
	


B

The call has a $9 ($41-$32) value at expiration, because the holder of the call can exercise his right to buy the stock at $32 and then sell the stock on the open market for $41. Remember, the intrinsic value of a call at expiration is MAX (0, S-X).
	
	Question ID: 23575
Mosaks, Inc., has a put option with a strike price of $105. If Mosaks stock price is $115 at expiration, the value of the put option is:


	
	A.
	$100.


	
	B.
	$10.


	
	C.
	$0.


	
	D.
	$105.

	
	
	


C

The put has a value of $0 because it will not be exercised. Put value is MAX (0, X-S).
	
	Question ID: 23577
John Elam has a position in an option in which Elam pays an upfront fee to receive payments if the value of a stock is below $18 at expiration. If the stock is not below $18 at expiration, Elam receives nothing. Elam’s position in the option is:


	
	A.
	short a put option.


	
	B.
	short a call option.


	
	C.
	long a call option.


	
	D.
	long a put option.

	
	
	


D

Elam has bought the right but not the obligation to sell the stock at $18. The fact that Elam purchased the option means that Elam has taken a long position; the fact that Elam profits if the value of the stock declines means the option must be a put option.
	
	Question ID: 23578
James Anthony has a short position in a put option with a strike price of $94. If the stock price is below $94 at expiration, what will happen to Anthony’s short position in the option?


	
	A.
	The person who is long the put option will not exercise the put option.


	
	B.
	He will have the option exercised against him at $94 by the person who is long the put option. 


	
	C.
	He will exercise the option at $94.


	
	D.
	He will let the option expire.

	
	
	


B

Anthony has sold the right to sell the stock at $94. That is, he received a payment upfront for the payer to have the right but not the obligation to sell the stock at $94. Because the option is in-the-money at expiration, MAX (0, X-S), the holder will exercise his right to sell at $94.
	
	Question ID: 23576
Which of the following represents a long position in an option?


	
	A.
	Writing a call option.


	
	B.
	Writing a put option.


	
	C.
	Writing a naked call option.


	
	D.
	Buying a put option. 

	
	
	


D

A long position is always the buying position. Remember that the buyer of an option is said to have gone long the position, while the writer (seller) of the option is said to have gone short the position.
	
	Question ID: 14072

Which of the following statements is TRUE regarding potential profits from a long position in a stock put option and its correlation with the stock price and strike price?


	
	A.
	Profits are negatively correlated with the stock price and negatively correlated with the strike price.


	
	B.
	Profits are positively correlated with the stock price and positively correlated with the strike price.


	
	C.
	Profits are negatively correlated with the stock price and positively correlated with the strike price.


	
	D.
	Profits are positively correlated with the stock price and negatively correlated with the strike price. 

	
	
	


C

	
	Question ID: 23580
The following value diagram illustrates a:



	
	A.
	short call option.


	
	B.
	long call option.


	
	C.
	short put option.


	
	D.
	long put option.

	
	
	


A

This value diagram represents a short call position. The seller (writer) of the option receives a premium. However, as the stock price rises further above the exercise price, the seller of the option loses more. Note that the greatest profit the call seller (writer) can receive is the amount of the premium, while the potential loss is unlimited.
	
	Question ID: 23579
The following value diagram illustrates a:
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	A.
	long call option.


	
	B.
	short put option.


	
	C.
	long put option.


	
	D.
	short call option.

	
	
	


A

This value diagram represents a long call position. The holder (buyer) of the option pays a premium to receive a payment if the stock price is higher than the exercise price. As the stock price rises above the exercise price, the option pays more to the buyer. The maximum that the call buyer can lose is the amount of the premium, while the profit potential for the call buyer is unlimited.
	
	Question ID: 23582
A call option has a strike price of $120, and the stock price is $105 at expiration. The expiration day value of the call option is:


	
	A.
	$105.


	
	B.
	$120.


	
	C.
	$15.


	
	D.
	$0.

	
	
	


D

A call option has an expiration day value of MAX (0, S-X). Here, X is $120 and S is $105. Because the call option is out of the money at expiration, its value is zero.
	
	Question ID: 23581
A put option has a strike price of $80, and the stock price is $75 at expiration. The expiration day value of the put option is:


	
	A.
	$0.


	
	B.
	$80.


	
	C.
	$75.


	
	D.
	$5.

	
	
	


D

A put option has an expiration day value of MAX (0, X-S). Here, X is $80 and S is $75.
	
	Question ID: 23583
A put option has a strike price of $65, and the stock price is $39 at expiration. The expiration day value of the put option is:


	
	A.
	$0.


	
	B.
	$26.


	
	C.
	$65.


	
	D.
	$39.

	
	
	


B

A put option has an expiration day value of MAX (0, X-S). Here, X is $65 and S is $39.
	
	Question ID: 23584
The option position illustrated in the following profit/loss diagram depicts a:
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	A.
	short call where the breakeven is X plus the call premium.


	
	B.
	short call where the breakeven is X less the call premium.


	
	C.
	long call where the breakeven is X plus the call premium.


	
	D.
	long call where the breakeven is X less the call premium.

	
	
	


A

This diagram depicts a short call position. The seller (writer) receives the premium, but at the exercise price, X, the buyer of the call option will exercise his right to buy at X. The seller (writer) of the call option will begin to lose when the stock price exceeds the exercise price by more than the premium the seller receives. For example, if the strike price is $50 and the option premium is $5, both the buyer and seller of the call will break even at a stock price of $55. 
	
	Question ID: 23585
The option position illustrated in the following profit/loss diagram depicts a:
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	A.
	short put where the breakeven is X plus the put premium. 


	
	B.
	short put where the breakeven is X less the put premium.


	
	C.
	long put where the breakeven is X plus the put premium.


	
	D.
	long put where the breakeven is X less the put premium.

	
	
	


B

The diagram depicts a short put position. The seller (writer) receives the premium, but at the exercise price, X, the buyer of the put option will exercise his right to sell at X. The seller (writer) of the put option will begin to lose when the stock price drops below the exercise price by more than the premium the seller receives. For example, if the strike price is $50 and the option premium is $5, both the buyer and seller of the put will break even at a stock price of $45. 
	
	Question ID: 23586
The option position illustrated in the following profit/loss diagram depicts a:
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	A.
	long call where the breakeven is $53.50.


	
	B.
	long call where the breakeven is $46.50.


	
	C.
	short put where the breakeven is $53.50.


	
	D.
	long put where the breakeven is $53.50.

	
	
	


A

The diagram depicts a long call position. The buyer of the call option pays the premium, $3.50, to have the right but not the obligation to buy the stock at the exercise price, $50. At $53.50, the buyer of the call will break even because the call option is in-the-money by $3.50, exactly covering the premium.
	
	Question ID: 23587
Linda Reynolds pays $2.45 to buy a call option with a strike price of $42. The stock price at which Reynolds earns $3.00 from her call option position is:


	
	A.
	$47.45.


	
	B.
	$3.00.


	
	C.
	$2.45.


	
	D.
	$42.00.

	
	
	


A

To earn $3.00, the stock price must be above the strike price by $3.00 plus the premium Reynolds paid to buy the option ($42.00+$3.00+$2.45).
	
	Question ID: 23588
Al Steadman receives a premium of $3.80 for shorting a put option with a strike price of $64. If the stock price at expiration is $84, Steadman’s profit or loss from the options position is:


	
	A.
	$16.20.


	
	B.
	$20.00.


	
	C.
	$23.80.


	
	D.
	$3.80.

	
	
	


D

The put option will not be exercised because it is out-of-the-money, MAX (0, X-S). Therefore, Steadman keeps the full amount of the premium, $3.80.
	
	Question ID: 23589
Jimmy Casteel pays a premium of $1.60 to buy a put option with a strike price of $145. If the stock price at expiration is $128, Casteel’s profit or loss from the options position is:


	
	A.
	$18.40.


	
	B.
	$1.60.


	
	C.
	$128.00.


	
	D.
	$15.40.

	
	
	


D

The put option will be exercised and has a value of $145-$128 = $17 [MAX (0, X-S)]. Therefore, Casteel receives $17 minus the $1.60 paid to buy the option. Therefore, the profit is $15.40 ($17 less $1.60).
	
	Question ID: 23590
Jim Lovell buys a December call option on Sysco, Inc., with a strike price of $50. Unknowingly, Jim Lovell’s wife, Betty, sells a December call option on Sysco, Inc., with a strike price of $50. The aggregate payoff to the Lovell family is:


	
	A.
	$50. 


	
	B.
	Cannot determine because we don’t know the current stock price.


	
	C.
	$100.


	
	D.
	$0.

	
	
	


D

The options market is a zero-sum game. The sum of the profits from the buyer and the seller is always zero. No matter the current stock price, whatever profit (loss) Jim Lovell makes (pays) now, Betty Lovell receives the opposite payoff. 
	
	Question ID: 23591
The options market is a zero-sum game in that:


	
	A.
	whatever the long call gains, the short call loses.


	
	B.
	the short put position has limited gain but also has limited loss.


	
	C.
	the long put position can gain infinitely, but the long call position can only lose the premium.


	
	D.
	the long put position has limited gain but also has limited loss.

	
	
	


A

Any gains received by the long call position must come from the short call position. The sum of profits between a buyer and seller of a call option, or a put option is always zero, thus options trading is zero sum game.
	
	Question ID: 14076

The options market is a zero-sum game because:


	
	A.
	there are no net profits or losses in the market.


	
	B.
	the profits from the buyer and seller of a call option together are always zero.


	
	C.
	all of these choices are correct.


	
	D.
	profits come only at the expense of another trader. 

	
	
	


C

	
	Question ID: 14079

The potential profits from a covered call position on a stock is:


	
	A.
	not correlated with the stock price at all.


	
	B.
	positively correlated with the stock price.


	
	C.
	negatively correlated with the stock price.


	
	D.
	none of these choices are correct. 

	
	
	


B

	
	Question ID: 23593
The profit/loss diagram for a covered call strategy looks like what other type of profit/loss diagram?


	
	A.
	Short call.


	
	B.
	Long call.


	
	C.
	Long put.


	
	D.
	Short put.

	
	
	


D

The profit/loss diagram for the covered call looks like the profit/loss diagram for a short put position. Both option positions have limited profit potential, with the potential loss equal to the strike price less the premium. 
	
	Question ID: 23592
Given the covered call option diagram below and the following information, what are the dollar values for points X and Y? The market price of the stock is $70, the strike price of the call is $80, and the call premium is $5.
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	A.
	$75, and point Y represents a dollar value of $15.


	
	B.
	$70, and point Y represents a dollar value of $15.


	
	C.
	$80, and point Y represents a dollar value of $15.


	
	D.
	$80, and point Y represents a dollar value of $5.

	
	
	


C

The kink in the diagram of a covered call is always at the exercise price of the option. Therefore, point X is $80. As the stock price rises above $80, the stock is called away and the maximum gain is the call premium plus the stock price gain ($80-$70). The maximum gain, then, at point Y is ($5 + $10 = $15).
	
	Question ID: 23594
In October, James Knight owned stock in Valerio, Inc., that was valued at $45 per share. At that time, Knight sold a call option on Valerio with an exercise price of $60 for $1.45. In December, at expiration, the stock is trading at $32. What is Knight’s profit (or loss) from his covered call strategy? Knight:


	
	A.
	lost $11.55.


	
	B.
	lost $13.00.


	
	C.
	gained $1.45.


	
	D.
	gained $11.55.

	
	
	


A

Since the option is out-of-the-money at expiration (MAX (0, S-X)), the option is worthless. Also, the stock decreased in value from $45 per share to $32 per share, creating a $13 loss. The $13 loss is partially offset by the $1.45 premium Knight received. Therefore, the total loss from the covered call position is $11.55 (-$13+$1.45).
	
	Question ID: 23595
George Mote owns stock in IBM currently valued at $112 per share. Mote writes a call option on IBM with an exercise price of $120. The call option is sold for $1.80. At expiration, the price of IBM is $115. What is Mote’s profit (or loss) from his covered call strategy? Mote:


	
	A.
	gained $3.00.


	
	B.
	lost $1.80.


	
	C.
	lost $3.20.


	
	D.
	gained $4.80.

	
	
	


D

Since the option is out-of-the-money at expiration (MAX (0, S-X)), the option is worthless. Also, the stock increased in value from $112 per share to $115 per share, creating a $3 gain. The $3 gain in the stock price is added to the $1.80 gain from writing the (unexercised) call option. Therefore, the total gain is $4.80 ($3+$1.80).
	
	Question ID: 23596
James Jackson currently owns stock in PNG, Inc., valued at $145 per share. Thinking that PNG is overbought and will decrease in price soon, Jackson writes a call option on PNG with an exercise price of $148 for a premium of $2.40. At expiration of the option, PNG stock is valued at $152 per share. What is the profit or loss from Jackson’s covered call strategy?

Jackson: 


	
	A.
	gained $5.40.


	
	B.
	lost $4.60.


	
	C.
	gained $9.40.


	
	D.
	lost $0.60.

	
	
	



A

The option is in-the-money at expiration (MAX (0, S-X) and the PNG stock will be called away from Jackson at $148 per share, limiting Jackson’s gain from owning the stock to $3 ($148-145). However, Jackson also gains the $2.40 from writing the call option. Therefore, Jackson’s gain from the covered call strategy is $5.40 ($3.00+$2.40). 
	
	Question ID: 23597
The profit/loss diagram for a long stock, long put option strategy (portfolio insurance) looks like what other type of profit/loss diagram?


	
	A.
	Long put.


	
	B.
	Short put.


	
	C.
	Short call.


	
	D.
	Long call.

	
	
	


D

The profit/loss diagram for a long stock, long put option strategy (portfolio insurance) looks like the profit/loss diagram for a long call option. For both strategies, the potential loss is limited to the cost of the option, while the upside profit potential is unlimited.
	
	Question ID: 23598
The following profit/loss diagram is for what type of position?
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	A.
	Long put.


	
	B.
	Short put.


	
	C.
	Long stock, short call (covered call).


	
	D.
	Long stock, long put (portfolio insurance).

	
	
	


D

The above diagram is for a long stock, long put strategy (portfolio insurance). The loss is limited to the cost of the option while the potential upside profit is unlimited. Note that the portfolio insurance payoff diagram is identical to the profit/loss diagram for a long call option, however a long call is not one of the answer choices.
	
	Question ID: 23599
Given the following profit/loss diagram for an at-the-money portfolio insurance strategy, determine the dollar value of point Z.
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	A.
	gain of $2.


	
	B.
	loss of $2.


	
	C.
	loss of $6.


	
	D.
	loss of $4.

	
	
	


D

Given that this is the profit/loss diagram for an at-the-money long stock, long put strategy (portfolio insurance), point Z must represent the price of the put option. Given that the breakeven occurs at a stock price of $94, the put option value of this strategy must be the difference between the breakeven and the exercise price, which is the kink in the diagram at $90. Therefore, point Z, the price of the option, must be $4 ($94-$90).
	
	Question ID: 23600
Anthony Gleason owns a stock valued at $50 per share. Gleason buys a put option with a strike price of $50 for $3. At expiration of the put option, the stock is valued at $65 per share. The profit from Gleason’s portfolio insurance strategy is:


	
	A.
	$18.


	
	B.
	$3.


	
	C.
	$12.


	
	D.
	$0.

	
	
	


C

The option is out-of-the-money at expiration (MAX (0, X-S)) and is, therefore, worthless. Gleason gains the $15 per share increase in the stock price but is out the premium for the option, leaving a gain of $12 = ($65-$50-$3).
	
	Question ID: 23601
Tommy Stamlano owns stock worth $80 per share. Stamlano buys a put option with a strike price of $70 for $1.50. At expiration of the put option, the stock price is $65 per share. The profit or loss from Stamlano’s portfolio insurance strategy is a:


	
	A.
	loss of $11.50.


	
	B.
	loss of $1.50.


	
	C.
	gain of $16.50.


	
	D.
	gain of $6.50.

	
	
	


A

The put option is in-the-money at expiration (MAX (0, X-S)) and is worth $5. Stamlano lost $15 on the stock ($80-$65) and is also out the premium on the option, $1.50. Therefore, Stamlano lost a total of $11.50 (-$15-$1.50+$5).
	
	Question ID: 23602
Delbert Gossert owns stock worth $32 per share. Gossert buys a put option with a strike price of $32 for $2.50. At expiration, the stock is valued at $32 per share. The profit or loss from Gossert’s portfolio insurance strategy is a:


	
	A.
	loss of $2.50.


	
	B.
	$0, no gain or loss.


	
	C.
	gain of $2.50.


	
	D.
	loss of $32.00.

	
	
	


A

The put option is at-the-money at expiration (MAX(0, X-S)) and is, therefore, worthless. The stock price didn’t change, so Gossert is only out the premium paid for the option, $2.50.
	
	Question ID: 14083

Suppose the price of Stock X is $80. A European put option, which matures three months from now, has a premium of $5, and an exercise price of $75. Ignoring commissions and the time value of money, what is the price for Stock X three months from now that will make the investor breakeven?


	
	A.
	$70.


	
	B.
	$90.


	
	C.
	$85.


	
	D.
	$75. 

	
	
	


A

	
	Question ID: 23604
A June put option has a premium of $1.50. At expiration, the breakeven (zero profit) value of the underlying asset is $36.50. The strike price of the option is:


	
	A.
	$1.50.


	
	B.
	$36.50.


	
	C.
	$38.00.


	
	D.
	$35.00.

	
	
	


C

The strike price of the put option is determined as the breakeven (zero profit) point plus the option premium ($36.50+1.50). Remember that the breakeven point for both the buyer and seller of a call option is the strike price plus the premium.
	
	Question ID: 23603
A December call option has a premium of $3.50. At expiration, the breakeven (zero profit) value of the underlying asset is $73.50. The strike price of the option is:


	
	A.
	$73.50.


	
	B.
	$70.00.


	
	C.
	$3.50.


	
	D.
	$77.00.

	
	
	


B

The strike price of the call option is determined as the breakeven (zero profit) point less the option premium ($73.50-$3.50). Remember that the breakeven point for both the buyer and seller of a call option is the strike price plus the premium.
	
	Question ID: 23605
Al Green owns a stock and writes an at-the-money call option for a premium of $1.50. If the breakeven (zero profit) point of this covered call strategy is $20.50, the strike price of the option is:


	
	A.
	$1.50.


	
	B.
	$20.50.


	
	C.
	$22.00.


	
	D.
	$19.00.

	
	
	


C

The strike price of an at-the-money call option in a covered call strategy is the breakeven (zero profit) point plus the call premium ($20.50+$1.50).
	
	Question ID: 23607
Freddy McCulloch owns a stock and writes an at-the-money call option for a premium of $4. If the breakeven (zero profit) point of this covered call strategy is $58, the strike price of the option is:


	
	A.
	$58.00.


	
	B.
	$4.00.


	
	C.
	$62.00.


	
	D.
	$66.00.

	
	
	


C

The strike price of an at-the-money call option in a covered call strategy is the breakeven (zero profit) point plus the call premium ($58+$4).
	
	Question ID: 23606
Aleda Jones owns a stock and buys an at-the-money put option for a premium of $3.00. If the breakeven (zero profit) point of this portfolio insurance strategy is $92, the strike price of the option is:


	
	A.
	$89.00.


	
	B.
	$95.00.


	
	C.
	$3.00.


	
	D.
	$92.00.

	
	
	


A

The strike price of an at-the-money put option in a portfolio insurance strategy is the breakeven (zero profit) point minus the put premium ($92-$3).
	
	Question ID: 23609
An investor owns a share of stock worth $75 and buys a put option for a premium of $2 with a strike price of $65. What are the risk and return characteristics of the portfolio? The:


	
	A.
	portfolio has unlimited downside risk, but the upside potential is limited to $65.


	
	B.
	portfolio's downside risk is a price of $73, but there is no maximum to the upside potential.


	
	C.
	portfolio's downside risk is a price of $63, but there is no maximum to the upside potential.


	
	D.
	portfolio has unlimited downside risk, but the upside potential is limited to $10.

	
	
	


C

The investor is using a portfolio insurance (long stock + long put) strategy. The maximum loss is limited to the strike price of the put option less the premium paid for the option. The maximum gain for the strategy is unlimited, as the stock could rise by an infinite amount and the investor will allow the put option to expire.
	
	Question ID: 14085

Which of the following is TRUE regarding the potential profit and loss from a portfolio insurance strategy?


	
	A.
	Profit is unlimited and loss in limited.


	
	B.
	Profit is limited and loss is limited.


	
	C.
	Profit is limited and loss in unlimited.


	
	D.
	Profit is unlimited and loss is unlimited. 

	
	
	


A

	
	Question ID: 23608
A portfolio insurance strategy:


	
	A.
	protects against stock price decreases but allows for gains with stock price increases.


	
	B.
	protects against stock price increases but allows for gains with stock price decreases.


	
	C.
	guarantees a set gain no matter what the movements in the stock price.


	
	D.
	allows only limited gains.

	
	
	


A

A portfolio insurance strategy protects against stock price decreases through the put option on the stock. The put allows the investor to sell the stock at a pre-specified price, therefore limiting losses to the strike price of the put less the option premium. However, the strategy allows for gains if the stock price increases. In this case, the investor lets the option expire and is only out the premium. If the stock price gain is more than the premium, the investor wins.
	
	Question ID: 14061

Which of the following statements is TRUE about the profits and losses from buying a call?


	
	A.
	Potential profits are limited and potential losses are theoretically unlimited.


	
	B.
	Potential profits are limited to the strike price plus the premium paid and potential losses are limited to the initial premium paid.


	
	C.
	Potential profits are limited to the strike price minus the premium paid and potential losses are theoretically unlimited.


	
	D.
	Potential profits are theoretically unlimited and potential losses are limited to the initial premium paid. 

	
	
	


D

	
	Question ID: 14064

Which of the following statements regarding buyers of call and put options is TRUE?


	
	A.
	Buyers of calls anticipate the value of the underlying asset to decrease, while the buyers of puts anticipate the value of the underlying asset to increase.


	
	B.
	Buyers of calls anticipate the value of the underlying asset to decrease, and buyers of puts also anticipate the value of the underlying asset to decrease.


	
	C.
	Buyers of calls anticipate the value of the underlying asset to increase, and buyers of puts also anticipate the value of the underlying asset to increase.


	
	D.
	Buyers of calls anticipate the value of the underlying asset to increase, while the buyers of puts anticipate the value of the underlying asset to decrease. 

	
	
	



D

	
	Question ID: 14071
A put on Stock X with a strike price of $40 is priced at $3.00 per share; while a call with a strike price of $40 is priced at $4.50. What is the maximum per share loss to the writer of the uncovered put and the maximum per share gain to the writer of the uncovered call?
Maximum Loss to Put Writer 
Maximum Gain to Call Writer



	
	A.
	$37.00
$4.50



	
	B.
	$40.00
$40.00



	
	C.
	$40.00
$4.50



	
	D.
	$37.00
$35.50


	
	
	


A

	
	Question ID: 14084

The purpose of portfolio insurance is to:


	
	A.
	create a risk-free position.


	
	B.
	protect a stock portfolio from severe drops in value.


	
	C.
	beat the market.


	
	D.
	prevent stock prices from dropping too much. 

	
	
	


B

	
	Question ID: 14078

A covered call position is equivalent to a:


	
	A.
	short put.


	
	B.
	long put.


	
	C.
	long straddle.


	
	D.
	vertical spread. 

	
	
	


A

	
	Question ID: 14080

The maximum profits that can be obtained from taking a covered call position is:


	
	A.
	theoretically unlimited.


	
	B.
	limited to the current stock price.


	
	C.
	limited to the strike price of the call.


	
	D.
	limited to the initial premium received from the sale of the call. 

	
	
	


D

	
	Question ID: 14073

Which of the following statements is TRUE regarding the potential profits from a long position in a stock call option and its correlation with the stock price and the strike price?


	
	A.
	Profits are negatively correlated with the stock price and negatively correlated with the strike price.


	
	B.
	Profits are positively correlated with the stock price and positively correlated with the strike price.


	
	C.
	Profits are positively correlated with the stock price and negatively correlated with the strike price.


	
	D.
	Profits are negatively correlated with the stock price and positively correlated with the strike price. 

	
	
	


C

1.E: The Swaps Market Introduction
	
	Question ID: 23553
Which of the following is a reason to use the swaps market rather than the futures market? To:


	
	A.
	maintain the firm's privacy.


	
	B.
	increase the liquidity of the contract.


	
	C.
	reduce the credit risk involved with the contract.


	
	D.
	provide for a standardized contract.

	
	
	


A

The futures market, because of the use of a standardized contract, is more liquid; and, because the exchange guarantees the contract, futures contracts have less credit risk. However, swaps contracts, because they are over-the-counter (private) contracts, allow the firm to maintain privacy.
	
	Question ID: 23552
Which of the following is NOT considered a reason for using the swaps market? To:


	
	A.
	maintain privacy.


	
	B.
	reduce transactions costs.


	
	C.
	exploit market inefficiencies.


	
	D.
	obtain cheaper financing.

	
	
	


C

Historically, the two basic motivations for swaps were to exploit market inefficiencies and attempt to achieve cheaper financing. Today, the swaps market has matured and now offers few arbitrage opportunities to exploit market inefficiencies. In addition to seeking cheaper financing, current reasons for using swaps include reducing transactions costs, avoiding costly regulations, and maintaining privacy. 
	
	Question ID: 23554
Which of the following is an advantage of the swaps market over the futures markets? The: 


	
	A.
	ability to hedge over long time horizons.


	
	B.
	standardized contract.


	
	C.
	credit risk of the contract.


	
	D.
	liquidity of the contract.

	
	
	


A

The futures market uses a standardized contract, which increases the liquidity of the contract. Also, futures exchanges assume the credit risk. However, as the time horizon increases, the liquidity of futures contracts decreases substantially. Therefore, swaps are considered a better method of hedging over long time horizons.
	
	Question ID: 14090

Which of the following statements about notional principal in swaps is TRUE?


	
	A.
	Notional principal is used as a base for computation of payments.


	
	B.
	Notional principal is useless in most swaps.


	
	C.
	Notional principal is not actually exchanged.


	
	D.
	Notional principal is not actually exchanged and notional principal is used as a base for computation of payments. 

	
	
	


D

	
	Question ID: 23555
The term notional principal refers to:


	
	A.
	the period of time involved.


	
	B.
	the cash interest payment.


	
	C.
	the fixed interest rate.


	
	D.
	the amount swapped.

	
	
	


D

The notional principal is the amount swapped. Note that the notional principal does not actually change hands with plain vanilla interest rate swaps, but is used to calculate the interest payment streams to be exchanged. Notional principal does exchange hands in a foreign currency swap.
	
	Question ID: 23556
Parties agreeing to swap cash flows are:


	
	A.
	dealers.


	
	B.
	agents.


	
	C.
	counterparties. 


	
	D.
	swap facilitators.

	
	
	


C

The parties agreeing to swap cash flows are called the counterparties.
	
	Question ID: 23542
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Which of the following statements is TRUE concerning the above diagram? Counterparty:


	
	A.
	B will gain in the swap when interest rates increase.


	
	B.
	A will gain in the swap when interest rates increase.


	
	C.
	B pays a fixed rate to counterparty A.


	
	D.
	B receives a variable rate from counterparty A.

	
	
	


B

	
	Question ID: 14096

XYZ company has entered into a "plain-vanilla" interest rate swap on $1,000,000 notional principal. XYZ company pays a fixed rate of 8 percent on payments that occur at 90-day intervals. Six payments remain with the next one due in exactly 90 days. On the other side of the swap, XYZ company receives payments based on the LIBOR rate. Describe the transaction between XYZ company and the dealer at the end of the fourth period if the appropriate LIBOR rate is 9.2 percent.


	
	A.
	XYZ company pays dealer $3,000.


	
	B.
	Dealer receives $20,000.


	
	C.
	Dealer pays XYZ company $3,000.


	
	D.
	XYZ company receives $23,000. 

	
	
	


C

XYZ company owes the dealer ($1,000,000)(.08)(90/360) = $20,000. The dealer owes XYZ company ($1,000,000)(.092)(90/360) = $23,000. Net: the dealer pays XYZ company $23,000 - $20,000 = $3,000.
	
	Question ID: 14093

XYZ company has entered into a "plain-vanilla" interest rate swap on $1,000,000 notional principal. XYZ company pays a fixed rate of 8 percent on payments that occur at 90-day intervals. Six payments remain with the next one due in exactly 90 days. On the other side of the swap, XYZ company receives payments based on the LIBOR rate. Describe the transaction that occurs between XYZ company and the dealer at the end of the first period if the appropriate LIBOR rate is 8.8 percent.


	
	A.
	Dealer pays XYZ company $20,000.


	
	B.
	XYZ company receives $2,000.


	
	C.
	XYZ company pays dealer $22,000.


	
	D.
	Dealer receives $2,000. 

	
	
	


B

XYZ company owes the dealer ($1,000,000)(.08)(90/360) = $20,000. The dealer owes XYZ company ($1,000,000)(.088)(90/360) = $22,000. Net: The dealer pays XYZ company $22,000 - $20,000 = $2,000
	
	Question ID: 23550
Consider a swap with a notional principal of $100 million.
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Given the above diagrams, which of the following statements is TRUE? At the end of year 3:


	
	A.
	A pays B $1million.


	
	B.
	B pays A $1.25 million.


	
	C.
	A pays B $2.5 million.


	
	D.
	A pays B $1.25 million.

	
	
	


D

The variable rate to be used at the end of year 3 is set at the end of 2? years (the arrears method). Therefore, the appropriate variable rate is 9 percent, the fixed rate is 6.5 percent, and the interest payments are netted. The fixed-rate payer, counterparty B, pays according to: 

(Swap Fixed Rate – LIBORt-1)(# of days/360)(Notional Principal).

In this case, we have (.065 - .09)(180/360)($100 million) = $-1.25 million. 
	
	Question ID: 23548
Consider a swap with a notional principal of $100 million.
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Given the above diagrams, which of the following statements is TRUE? At time period 2:


	
	A.
	A pays B $2 million.


	
	B.
	B pays A $1 million.


	
	C.
	A pays B $7 million and B pays A $8 million.


	
	D.
	A pays B $10 million and B pays A $8 million.

	
	
	


B

The variable rate to be used at time period 2 is set at time period 1 (the arrears method). Therefore, the appropriate variable rate is 7 percent, the fixed rate is 8 percent, and the interest payments are netted. The fixed-rate payer, counterparty B, pays according to: 

(Swap Fixed Rate – LIBORt-1)(# of days/360)(Notional Principal).

In this case, we have (.08 - .07)(360/360)($100 million) = $1 million 
	
	Question ID: 23549
Consider a swap with a notional principal of $120 million.
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Given the above diagrams, which of the following statements is TRUE? At the end of 360 days:


	
	A.
	A pays B $0.6 million.


	
	B.
	A pays B $1.2 million.


	
	C.
	A pays B $13.2 million and B pays A $12 million.


	
	D.
	A pays B $6.6 million and B pays A $6 million.

	
	
	


A

The variable rate to be used at the end of 360 days is set at the 180-day period (the arrears method). Therefore, the appropriate variable rate is 10 percent, the fixed rate is 11 percent, the time period is 180 days, and the interest payments are netted. The fixed-rate payer, counterparty A, pays according to:

(Swap Fixed Rate – LIBORt-1)(# of days/360)(Notional Principal).

In this case, we have (.11 - .10)(180/360)($120 million) = $0.6 million 
	
	Question ID: 23558
Consider a commercial bank that is about to make a large variable-rate loan. Which of the following would be an appropriate position for the bank to hedge its risk with this loan? Pay: 


	
	A.
	variable to a currency swap counterparty and receive fixed.


	
	B.
	variable to an interest rate swap counterparty and receive fixed.


	
	C.
	fixed to an interest rate swap counterparty and receive variable.


	
	D.
	fixed to a currency swap counterparty and receive variable.

	
	
	


B

There is no problem for the bank with respect to currencies, and, therefore, this should not be a currency swap. The bank’s problem is that as interest rates decrease, the bank’s interest income declines. To offset this loss (to hedge), the bank needs to win in the swap as interest rates decrease. Therefore, the bank should pay variable and receive fixed in an interest rate swap. Floating rate receipts would then offset floating rate payments and the bank would be left with a fixed spread between assets and liabilities.
	
	Question ID: 23557
Consider a commercial bank that has many floating-rate liabilities and has many fixed-rate assets. Which of the following would be an appropriate position for the bank to hedge its risk? Pay:


	
	A.
	variable to an interest rate swap counterparty and receive fixed.


	
	B.
	fixed to a currency swap counterparty and receive variable.


	
	C.
	variable to a currency swap counterparty and receive fixed.


	
	D.
	fixed to an interest rate swap counterparty and receive variable.

	
	
	


D

There is no problem for the bank with respect to currencies, and, therefore, this should not be a currency swap. The bank’s problem is that as interest rates rise, the bank’s profits decrease, because the cost of interest on the floating-rate liabilities increases but the interest on the assets does not. To offset this loss (to hedge), the bank needs to win in the swap as interest rates increase. Therefore, the bank should pay fixed and receive variable in an interest rate swap. Floating rate receipts would then offset floating rate payments and the bank would be left with a fixed spread between assets and liabilities.
	
	Question ID: 14104

A typical savings and loan association accept deposits (which is floating rate in nature) and lend those funds on fixed rate terms. As a result, it can be left with floating rate liabilities and fixed rate assets. To escape this interest rate risk, the savings and loan might be motivated to engage in:


	
	A.
	a currency swap.


	
	B.
	an equity swap.


	
	C.
	an interest rate swap.


	
	D.
	swaps can never help. 

	
	
	


C

	
	Question ID: 23559
Why are payments NOT usually netted out in a currency swap?


	
	A.
	There is no credit risk in a currency swap.


	
	B.
	The notional principal is not swapped at initiation.


	
	C.
	The payments are denominated in two different currencies.


	
	D.
	There are no payments in a currency swap except at initiation and maturity.

	
	
	


C

Payments are not usually netted out because the payments are denominated in two different currencies, which does not easily allow for netting.
	
	Question ID: 23543
A U.S. bank enters into a plain vanilla currency swap with a notional principal of US$100m (£67m). At each settlement date, the U.S. bank pays a fixed rate of 8 percent on the pounds received, and an English bank pays a variable rate equal to London interbank offered rate (LIBOR) on the U.S. dollars received. Given the following information, what payment is made to whom at the end of year 2? 
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The U.S. bank pays:


	
	A.
	US$5.5m and the English bank pays £5.36m.


	
	B.
	US$6m and the English bank pays £5.36m.


	
	C.
	£5.36m and the English bank pays US$5.5m.


	
	D.
	£5.36m and the English bank pays US$6m.

	
	
	


C

The U.S. bank pays 8% fixed on £67m, which makes for an annual payment of £5.36m. The variable rate to be used at time period 2 is set at time period 1 (the arrears method). Therefore, the English bank pays 5.5% times US$100m for a payment of US$5.5m.
	
	Question ID: 23544
A U.S. bank enters into a plain vanilla currency swap with a notional principal of US$15m (DM30m). At each settlement date, the U.S. bank pays a fixed rate of 6.5 percent on the German marks received, and a German bank pays a variable rate equal to LIBOR+2 percent on the U.S. dollars received. Given the following information, what payment is made to whom at the end of year 2? 
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The U.S. bank pays:


	
	A.
	DM1.95m, and the German bank pays US$975,000.


	
	B.
	DM1.95m, and the German bank pays US$900,000.


	
	C.
	US$975,000, and the German bank pays DM1.95m.


	
	D.
	US$900,000, and the German bank pays DM1.95m.

	
	
	


A

The U.S. bank pays 6.5% fixed on DM30m, which makes for an annual payment of DM1.95m. The variable rate to be used at time period 2 is set at time period 1 (the arrears method). Therefore, the English bank pays 6.5% times US$30m for a payment of US$975,000.
	
	Question ID: 23560
If a commercial bank has a large amount of certificates of deposit (CDs) that are to rollover (mature and be re-issued) at the end of the month, why would the bank wish to enter into a swap contract? The bank is exposed to an interest rate:


	
	A.
	increase which will increase their cost of funds when the CDs rollover.


	
	B.
	decrease which will increase their cost of funding when the CDs rollover.


	
	C.
	decrease which will decrease their cost of funding when the CDs rollover.


	
	D.
	increase which will decrease their cost of funds when the CDs rollover.

	
	
	


A

As the CDs rollover at the end of the month, the interest rate will reset to whatever the CD rate is at that time. Therefore, the bank faces the risk that the interest rate will increase, which increases the cost of funds to the bank.
	
	Question ID: 23561
Consider a savings and loan (S&L) that funds 30-year fixed-rate mortgages by borrowing funds through 1-year certificates of deposit (CDs) and re-issuing the CDs at the end of each year for 30 years. Why would the S&L wish to enter into a swap contract? The bank is exposed to an interest rate:


	
	A.
	decrease which will increase their cost of funding when the CDs rollover, but the interest rate on the mortgages is set for 30 years.


	
	B.
	decrease that will decrease the interest rate earned on the mortgages while the interest rate on the CDs is set for 30 years.


	
	C.
	increase that will decrease the interest rate earned on the mortgages while the interest rate on the CDs is set for 30 years.


	
	D.
	increase which will increase their cost of funds when the CDs rollover, but the interest rate on the mortgages is set for 30 years.

	
	
	


D

As the CDs rollover at the end of each year, the interest rate will reset to whatever the CD rate is at that time. However, the mortgages have a set rate of interest for 30 years. Therefore, the bank faces the risk that interest rates on the CDs increase, which increases the cost of funds to the bank, while the interest income from the mortgages does not change.
	
	Question ID: 14110

An interest rate swap:


	
	A.
	all of these choices are correct.


	
	B.
	allows a firm to convert outstanding fixed rate debt to floating rate debt.


	
	C.
	allows a firm to convert outstanding floating rate debt to fixed rate debt.


	
	D.
	obligates two counterparties to exchange cash flows at one or more future dates. 

	
	
	


A

	
	Question ID: 23563
Consider a U.S. commercial bank that takes in one-year certificates of deposit (CDs) in its Hong Kong branch, denominated in Hong Kong dollars, to fund three-year, fixed-rate loans the bank is making in the U.S. denominated in U.S. dollars. Why would this bank wish to enter into a currency swap? The bank faces the risk that the Hong Kong dollar:


	
	A.
	decreases in value against the U.S. dollar and the risk that interest rates increase in Hong Kong.


	
	B.
	increases in value against the U.S. dollar and the risk that interest rates decrease in Hong Kong.


	
	C.
	decreases in value against the U.S. dollar and the risk that interest rates decrease in Hong Kong.


	
	D.
	increases in value against the U.S. dollar and the risk that interest rates increase in Hong Kong.

	
	
	


D

The bank faces two problems. First, if the Hong Kong dollar increases in value, it will take more U.S. dollars to repay the Hong Kong depositors. Indeed, if the Hong Kong dollar increases significantly, it may take more U.S. dollars to repay the Hong Kong depositors than the bank makes on the U.S. loan. Secondly, if the interest rate in Hong Kong rises, the bank pays more in interest on its CDs while the rate on the bank’s U.S. loans does not change. In this case, interest expense would rise and interest income would remain the same, which narrows the bank’s profits.
	
	Question ID: 23562
Consider a U.S. commercial bank that wishes to make a two-year, fixed-rate loan in Australia denominated in Australian dollars. The U.S. bank will fund the loan by issuing two-year CDs in the U.S. Why would the U.S. bank wish to enter into a currency swap? The bank faces the risk that:


	
	A.
	interest rates in the U.S. increase.


	
	B.
	interest rates in Australia decline.


	
	C.
	the Australian dollar increases in value against the U.S. dollar.


	
	D.
	the Australian dollar decreases in value against the U.S. dollar.

	
	
	


D

There is no interest rate risk for the bank because the bank has fixed rates for two years on both the asset and the liability. However, the bank faces a problem in that if the Australian dollar decreases in value, the loan (and the interest payments from the loan) will not translate back into as many U.S. dollars. Indeed, if the Australian dollar decreases significantly, the loan (and the interest payments from the loan) may not translate back into enough U.S. dollars to repay the CDs.
	
	Question ID: 14111
Firm A is a German firm, and Firm B is a U.S. firm. The following table presents borrowing rates for both firms in both U.S. dollar and German mark:
U.S. Dollar Rate
German Mark Rate
Firm A
9%
7%
Firm B
8%
8%
To reduce borrowing costs of both firms, firm A and firm B might be motivated to engage in:


	
	A.
	a "diff" swap.


	
	B.
	a currency swap.


	
	C.
	an equity swap.


	
	D.
	an interest rate swap. 

	
	
	


B

	
	Question ID: 23545
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Given the above diagram of a fixed-for-fixed currency swap, which of the following is CORRECT? The:


	
	A.
	U.S. firm pays interest based on the US$ to the German firm.


	
	B.
	German firm pays interest based on the DM to the U.S. firm.


	
	C.
	German firm pays interest based on the US$ to the U.S. firm. 


	
	D.
	U.S. firm pays variable to the German firm, and the German firm pays fixed to the U.S. firm.

	
	
	


C

In this fixed-for-fixed currency swap, the German firm pays interest based on the US$ to the U.S. firm. For the exam, remember that with foreign currency swaps, each firm will typically receive interest payments in their home currency.
	
	Question ID: 23546
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Given the above diagram of a fixed-for-fixed currency swap, which of the following is CORRECT? The:


	
	A.
	Swiss firm pays variable to the German firm, and the German firm pays fixed to the Swiss firm.


	
	B.
	German firm pays interest based on the SF to the Swiss firm. 


	
	C.
	Swiss firm pays interest based on the SF to the German firm.


	
	D.
	German firm pays interest based on the DM to the Swiss firm.

	
	
	


B

In this fixed-for-fixed currency swap, the German firm pays interest based on the SF to the Swiss firm. For the exam, remember that with foreign currency swaps, each firm will typically receive interest payments in their home currency.
	
	Question ID: 23547

[image: image19.jpg]Swaps pounds for Yen

English Firm | ———————# | Japanese Firm

-

Swaps yen for pounds




Given the above diagram of a fixed-for-fixed currency swap, which of the following is CORRECT? The:


	
	A.
	Japanese firm pays interest based on the yen to the English firm.


	
	B.
	Japanese firm pays interest based on the pound to the English firm. 


	
	C.
	English firm pays interest based on the pound to the Japanese firm.


	
	D.
	English firm pays variable to the Japanese firm, and the Japanese firm pays fixed to the English firm.

	
	
	


B

In this fixed-for-fixed currency swap, the Japanese firm pays interest based on the pound to the English firm. For the exam, remember that with foreign currency swaps, each firm will typically receive interest payments in their home currency.
	
	Question ID: 23565
A Swiss firm can borrow in Switzerland at 10 percent and in the U.S. at 8.5 percent. A U.S. firm can borrow in Switzerland at 10.5 percent and in the U.S. at 8.5 percent. Which firm has a comparative advantage in which currency? The:


	
	A.
	Swiss firm has a comparative advantage borrowing in the U.S.


	
	B.
	Swiss firm has a comparative advantage borrowing in Switzerland. 


	
	C.
	U.S. firm has a comparative advantage in borrowing in the U.S.


	
	D.
	U.S. firm has a comparative advantage in borrowing in Switzerland.

	
	
	


B

The interest rates are equal for borrowing in the U.S., but the Swiss firm can borrow in Switzerland at a lower rate, thus giving the Swiss firm the comparative advantage in Switzerland.
	
	Question ID: 23564
A German firm can borrow in Germany at 8 percent and in the U.S. at 7 percent. A U.S. firm can borrow in Germany at 8 percent and in the U.S. at 6.5 percent. Which firm has a comparative advantage in which currency? The:


	
	A.
	U.S. firm has a comparative advantage in borrowing in Germany.


	
	B.
	U.S. firm has a comparative advantage in borrowing in the U.S.


	
	C.
	German firm has a comparative advantage borrowing in Germany.


	
	D.
	German firm has a comparative advantage borrowing in the U.S.

	
	
	


B

The interest rates are equal for borrowing in Germany, but the U.S. firm can borrow in the U.S. at a lower rate, thus giving the U.S. firm the comparative advantage in the U.S.
	
	Question ID: 14112
Firm A is a German firm, and Firm B is a U.S. firm. The following table presents borrowing rates for both firms in both U.S. dollar and German mark:
U.S. Dollar Rate
German Mark Rate
Firm A
9%
7%
Firm B
8%
8%
Which of the following statements is TRUE?


	
	A.
	Firm B has a comparative advantage in borrowing both U.S. dollars and German marks.


	
	B.
	Firm B has a comparative advantage in borrowing German marks.


	
	C.
	Firm B does not have any comparative borrowing advantage.


	
	D.
	Firm B has a comparative advantage in borrowing U.S. dollars. 

	
	
	


D

	
	Question ID: 23568
A Japanese firm can borrow in Japan at 2.5 percent fixed and at 2 percent variable. The Japanese firm can borrow in the U.S. at 7.5 percent fixed and at 6.5 percent variable. A U.S. firm can borrow in Japan at 3 percent fixed and at 2 percent variable. The U.S. firm can borrow in the U.S. at 7.5 percent fixed and at 6 percent variable. Which of the following swap agreements allows each firm to specialize where they have a comparative advantage in borrowing? The U.S. firm pays a:


	
	A.
	fixed rate on yen and receives a variable rate on US$.


	
	B.
	fixed rate on US$ and receives a variable rate on DM.


	
	C.
	variable rate on US$ and receives a fixed rate on DM.


	
	D.
	the U.S. firm pays a variable rate on yen and receives a fixed rate on US$.

	
	
	


A

The U.S. firm has a comparative advantage in borrowing variable in US$. The Japanese firm has a comparative advantage in borrowing fixed in Japan. The swap agreement which allows the two parties to exploit their comparative advantages is where the U.S. firm borrows variable in the U.S. and pays fixed on the yen to the Japanese firm. The Japanese firm borrows fixed in Japan and pays variable on the US$ to the U.S. firm.
	
	Question ID: 23566
A German firm can borrow in Germany at 10 percent fixed and at 8.5 percent variable. The German firm can borrow in the U.S. at 9 percent fixed and at 7.5 percent variable. A U.S. firm can borrow in Germany at 10.5 percent fixed and at 8.5 percent variable. The U.S. firm can borrow in the U.S. at 9 percent fixed and at 7 percent variable. Which of the following swap agreements allows each firm to specialize where they have a comparative advantage in borrowing? The U.S. firm pays a:


	
	A.
	variable rate on DM and receives a fixed rate on US$.


	
	B.
	variable rate on US$ and receives a fixed rate on DM.


	
	C.
	fixed rate on US$ and receives a variable rate on DM.


	
	D.
	fixed rate on DM and receives a variable rate on US$.

	
	
	


D

The U.S. firm has a comparative advantage in borrowing variable in US$. The German firm has a comparative advantage in borrowing fixed in DM. The swap agreement which allows the two parties to exploit their comparative advantages is where the U.S. firm borrows variable in the U.S. and pays fixed on the DM to the German firm. The German firm borrows fixed in Germany and pays variable on the US$ to the U.S. firm.
	
	Question ID: 23567
An Australian firm can borrow in Australia at 9 percent fixed and at 8 percent variable. The Australian firm can borrow in the U.S. at 7 percent fixed and at 6 percent variable. A U.S. firm can borrow in Australia at 9 percent fixed and at 8.5 percent variable. The U.S. firm can borrow in the U.S. at 6.5 percent fixed and at 6 percent variable. Which of the following swap agreements allows each firm to specialize where they have a comparative advantage in borrowing? The U.S. firm pays a:


	
	A.
	fixed rate on US$ and receives a variable rate on DM.


	
	B.
	variable rate on A$ and receives a fixed rate on US$.


	
	C.
	variable rate on US$ and receives a fixed rate on DM.


	
	D.
	fixed rate on DM and receives a variable rate on US$.

	
	
	


B

The U.S. firm has a comparative advantage in borrowing fixed in US$. The Australian firm has a comparative advantage in borrowing variable in Australia. The swap agreement which allows the two parties to exploit their comparative advantages is where the U.S. firm borrows fixed in the U.S. and pays variable on the A$ to the Australian firm. The Australian firm borrows variable in Australia and pays fixed on the US$ to the U.S. firm.
	
	Question ID: 23570
Consider a U.S. commercial bank that borrows funds in England for one year denominated in English pounds. Why would the investor wish to enter into a swap contract? As the:


	
	A.
	English pound decreases in value, it takes more U.S. dollars to pay off the English liability.


	
	B.
	U.S. interest rate decreases, the value of the Australian bonds decreases.


	
	C.
	English pound increases in value, it takes more U.S. dollars to pay off the English liability.


	
	D.
	U.S. interest rate increases, the value of the English liability increases.

	
	
	


C

As the English pound increases in value, it takes more U.S. dollars to pay off the English liability, which increases the interest cost of borrowing funds denominated in English pounds.
	
	Question ID: 23571
Consider a commercial bank with a portfolio of U.S. Treasury bonds. Why would the bank wish to engage in a swap contract? As the:


	
	A.
	interest rate decrease, the value of the bonds decreases.


	
	B.
	U.S. dollar decreases, the value of the bonds decreases.


	
	C.
	U.S. dollar increases, the value of the bonds decreases.


	
	D.
	interest rate increases, the value of the bonds decreases.

	
	
	


D

Interest rates and bond prices are inversely related. Therefore, as interest rates increase, the value of the T-bonds decreases. The bank may wish to engage in a swap contract wherein the bank pays fixed and receives variable. In this case, as interest rates rise, the bank receives higher variable payments for making the same fixed payment in the swap. The cash flows received in the swap offset the reduction in the bond portfolio’s value.
	
	Question ID: 23569
Consider a U.S. investor who has a portfolio of Australian government bonds that are denominated in Australian dollars. Why would the investor wish to enter into a swap contract? As the:


	
	A.
	Australian interest rate decreases, the value of the Australian bonds decreases.


	
	B.
	U.S. interest rate decreases, the value of the Australian bonds decreases.


	
	C.
	Australian dollar increases in value, the interest payments from the Australian bonds translate into fewer U.S. dollars.


	
	D.
	Australian dollar decreases in value, the interest payments from the Australian bonds translate into fewer U.S. dollars.

	
	
	


D

As the Australian dollar decreases in value, the interest payments from the bond (and perhaps the bond’s face value if the bond is at maturity), translate into fewer U.S. dollars, which reduces the interest earned on the Australian bonds.
	
	Question ID: 14109

The main motivation for engaging in swap transactions is:


	
	A.
	commercial needs.


	
	B.
	comparative borrowing advantages.


	
	C.
	both of these choices are correct.


	
	D.
	none of these choices are correct. 

	
	
	


C

	
	Question ID: 14105

Suppose a financial institution has floating rate liabilities and fixed rate assets. To escape interest rate risk, this financial institution might be motivated to use the swaps market to:


	
	A.
	transform its fixed rate assets into floating rate assets.


	
	B.
	transform its floating rate liabilities into fixed rate liabilities.


	
	C.
	both of these choices are correct.


	
	D.
	none of these choices are correct. 

	
	
	


C

	
	Question ID: 14099
Firm A is a German firm, and Firm B is a U.S. firm. The following table presents borrowing rates for both firms in both U.S. dollar and German mark:
U.S. Dollar Rate
German Mark Rate
Firm A
9%
7%
Firm B
8%
8%
If Firm A and Firm B enter into a plain-vanilla currency swap, which of the following best describes the initial cash flows between Firm A and Firm B?


	
	A.
	Both of these choices are correct.


	
	B.
	Firm B lends German marks to Firm A, and Firm A lends U.S. dollars to Firm B.


	
	C.
	None of these choices are correct.


	
	D.
	Firm A lends German marks to Firm B, and Firm B lends U.S. dollars to Firm A. 

	
	
	


D

	
	Question ID: 14091

Which of the following MUST be part of ANY swap transaction?


	
	A.
	Swap dealers.


	
	B.
	Swap facilitators.


	
	C.
	Counterparties.


	
	D.
	Counterparties and swap facilitators. 

	
	
	


C

	
	Question ID: 14094

XYZ company has entered into a "plain-vanilla" interest rate swap on $1,000,000 notional principal. XYZ company pays a fixed rate of 8 percent on payments that occur at 90-day intervals. Six payments remain with the next one due in exactly 90 days. On the other side of the swap, XYZ company receives payments based on the LIBOR rate. Describe the transaction between XYZ compnay and the dealer at the end of the second period if the appropriate LIBOR rate is 7.2 percent.


	
	A.
	XYZ company pays dealer $20,000.


	
	B.
	Dealer pays XYZ company $18,000.


	
	C.
	XYZ company receives $2,000.


	
	D.
	Dealer receives $2,000. 

	
	
	


D

XYZ company owes the dealer ($1,000,000)(.08)(90/360) = $20,000. The dealer owes XYZ company ($1,000,000)(.072)(90/360) = $22,000. Net: XYZ company pays the dealer $20,000 - $18,000 = $2,000.
	
	Question ID: 14108

The term "exchange of borrowings" refers to:


	
	A.
	currency swaps.


	
	B.
	swaps in general.


	
	C.
	none of these choices are correct.


	
	D.
	interest rate swaps. 

	
	
	


A

	
	Question ID: 14113
Firm A is a German firm, and Firm B is a U.S. firm. The following table presents borrowing rates for both firms in both U.S. dollar and German mark:
U.S. Dollar Rate
German Mark Rate
Firm A
9%
7%
Firm B
8%
8%
Which of the following statements is TRUE?


	
	A.
	Firm A has a comparative advantage in borrowing U.S. dollars.


	
	B.
	Firm A does not have any comparative borrowing advantage.


	
	C.
	Firm A has a comparative advantage in borrowing German marks.


	
	D.
	Firm A has a comparative advantage in borrowing both U.S. dollars and German marks. 

	
	
	


C
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